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SIMPLES COMPUESTAS 
 

𝟏.    𝑦 = 𝑘                     𝑦´ = 0  

𝟐.   𝑦 = 𝑘𝑥                    𝑦´ = 𝑘  

𝟑.    𝑦 = 𝑥𝑛                  𝑦´ = 𝑛𝑥𝑛−1 𝟒.   𝑦 = 𝑓𝑛                    𝑦´ = 𝑛𝑓𝑛−1 

𝟓.    𝑦 = 𝑓 · 𝑔              𝑦´ = 𝑓´ · 𝑔 + 𝑓 · 𝑔´ 
𝟔.   𝑦 =

𝑓

𝑔
                     𝑦´ =

𝑓´ · 𝑔 − 𝑓 · 𝑔´

𝑔2
 

𝟕.   𝑦 = √𝑥
𝑛

                 𝑦´ =
1

𝑛 · √𝑥𝑛−1𝑛  𝟖.   𝑦 = √𝑓
𝑛

                 𝑦´ =
𝑓´

𝑛 · √𝑓𝑛−1𝑛
 

𝟗.    𝑦 = 𝑙𝑛𝑥                𝑦´ =
1

𝑥
 𝟏𝟎.    𝑦 = 𝑙𝑛𝑓              𝑦´ =

𝑓´

𝑓
 

𝟏𝟏.    𝑦 = log𝑎 𝑥        𝑦´ =
1

𝑥
log𝑎 𝑒 𝟏𝟐.    𝑦 = log𝑎 𝑓        𝑦´ =

𝑓´

𝑓
log𝑎 𝑒 

𝟏𝟑.    𝑦 = 𝑒𝑥                𝑦´ = 𝑒𝑥 𝟏𝟒.    𝑦 = 𝑒𝑓               𝑦´ = 𝑓´ · 𝑒𝑓 

𝟏𝟓.    𝑦 = 𝑎𝑥                𝑦´ = 𝑎𝑥𝑙𝑛𝑎 𝟏𝟔.    𝑦 = 𝑎𝑓               𝑦´ = 𝑓´ · 𝑎𝑓𝑙𝑛𝑎 

𝟏𝟕.    𝑦 = 𝑠𝑒𝑛𝑥           𝑦´ = 𝑐𝑜𝑠𝑥 𝟏𝟖.    𝑦 = 𝑠𝑒𝑛𝑓           𝑦´ = 𝑓´ · 𝑐𝑜𝑠𝑓 

𝟏𝟗.    𝑦 = 𝑐𝑜𝑠𝑥           𝑦´ = −𝑠𝑒𝑛𝑥 𝟐𝟎.    𝑦 = 𝑐𝑜𝑠𝑓           𝑦´ = −𝑓´𝑠𝑒𝑛𝑓 

𝟐𝟏.    𝑦 = 𝑡𝑔𝑥             𝑦´ =
1

𝑐𝑜𝑠2𝑥
= 𝑠𝑒𝑐2𝑥 = 1 + 𝑡𝑔2𝑥 𝟐𝟐.    𝑦 = 𝑡𝑔𝑓       𝑦´ =

𝑓´

𝑐𝑜𝑠2𝑓
= 𝑓´ · 𝑠𝑒𝑐2𝑥

= (1 + 𝑡𝑔2𝑥) · 𝑓´ 

𝟐𝟑.    𝑦 = 𝑠𝑒𝑐𝑥            𝑦´ = 𝑠𝑒𝑐𝑥 · 𝑡𝑔𝑥 𝟐𝟒.   𝑦 = 𝑠𝑒𝑐𝑓            𝑦´ = 𝑓´ · 𝑠𝑒𝑐𝑓 · 𝑡𝑔𝑓 

𝟐𝟓.    𝑦 = 𝑐𝑜𝑠𝑒𝑐𝑥       𝑦´ = −𝑐𝑜𝑠𝑒𝑐𝑥 · 𝑐𝑜𝑡𝑔𝑥 𝟐𝟔.    𝑦 = 𝑐𝑜𝑠𝑒𝑐𝑓       𝑦´ = −𝑓´ · 𝑐𝑜𝑠𝑒𝑐𝑓 · 𝑐𝑜𝑡𝑔𝑓 

𝟐𝟕.  𝑦 = 𝑐𝑜𝑡𝑔𝑥      𝑦´ =
−1

𝑠𝑒𝑛2𝑥
= −𝑐𝑜𝑠𝑒𝑐2𝑥 = −1 − 𝑐𝑜𝑡𝑔2𝑥 𝟐𝟖. 𝑦 = 𝑐𝑜𝑡𝑔𝑓      𝑦´ =

−𝑓´

𝑠𝑒𝑛2𝑓
= −𝑓´𝑐𝑜𝑠𝑒𝑐2𝑓 = (−1 − 𝑐𝑜𝑡𝑔2𝑓) · 𝑓´ 

𝟐𝟗.    𝑦 = 𝑎𝑟𝑐𝑠𝑒𝑛𝑥       𝑦´ =
1

√1 − 𝑥2
 𝟑𝟎.    𝑦 = 𝑎𝑟𝑐𝑠𝑒𝑛𝑓       𝑦´ =

𝑓´

√1 − 𝑓2
 

𝟑𝟏.    𝑦 = 𝑎𝑟𝑐𝑐𝑜𝑠𝑥       𝑦´ =
−1

√1 − 𝑥2
 𝟑𝟐.    𝑦 = 𝑎𝑟𝑐𝑐𝑜𝑠𝑓      𝑦´ =

−𝑓´

√1 − 𝑓2
 

𝟑𝟑.   𝑦 = 𝑎𝑟𝑐𝑡𝑔𝑥          𝑦´ =
1

1 + 𝑥2
 𝟑𝟒.   𝑦 = 𝑎𝑟𝑐𝑡𝑔𝑓          𝑦´ =

𝑓´

1 + 𝑓2
 

𝟑𝟓.   𝑦 = 𝑎𝑟𝑐𝑐𝑜𝑡𝑔𝑥      𝑦´ =
−1

1 + 𝑥2
 𝟑𝟔.   𝑦 = 𝑎𝑟𝑐𝑐𝑜𝑡𝑔𝑓      𝑦´ =

−𝑓´

1 + 𝑓2
 

 𝟑𝟕.    𝒚 = 𝒇𝒈    Por derivación logarítmica 

 




